
75 
 

64

  

 

 

   .

  .

 

(0,0)

  𝐫 =  𝟏

:θ

𝐏(𝐱, 𝐲) 

P(x, y) = P ( cos θ , sin θ) 
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https://ar.wikipedia.org/wiki/%D8%AF%D8%A7%D8%A6%D8%B1%D8%A9
https://ar.wikipedia.org/wiki/%D9%86%D8%B5%D9%81_%D9%82%D8%B7%D8%B1
https://ar.wikipedia.org/wiki/%D9%86%D8%B5%D9%81_%D9%82%D8%B7%D8%B1
https://ar.wikipedia.org/wiki/%D9%86%D8%B5%D9%81_%D9%82%D8%B7%D8%B1
https://ar.wikipedia.org/wiki/%D9%88%D8%A7%D8%AD%D8%AF
https://ar.wikipedia.org/wiki/%D8%AF%D8%A7%D9%84%D8%A9
https://ar.wikipedia.org/wiki/%D8%B2%D8%A7%D9%88%D9%8A%D8%A9_(%D9%87%D9%86%D8%AF%D8%B3%D8%A9)
https://ar.wikipedia.org/wiki/%D9%85%D8%AB%D9%84%D8%AB_%D9%82%D8%A7%D8%A6%D9%85
https://ar.wikipedia.org/wiki/%D9%85%D8%AB%D9%84%D8%AB_%D9%82%D8%A7%D8%A6%D9%85
https://ar.wikipedia.org/wiki/%D9%82%D8%B7%D8%B9%D8%A9_%D9%85%D8%B3%D8%AA%D9%82%D9%8A%D9%85%D8%A9
https://ar.wikipedia.org/wiki/%D8%AF%D8%A7%D9%84%D8%A9
https://youtu.be/fRBwJ3_TyM0

